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Section A: (20 x 2 marks)

For each question, four options are given. One of the options is the
correct answer. Shade the correct oval (1, 2, 3 or 4) on the Optical
Answer Sheet. Please use only 2B pencil and SHADE the oval
completely.

1. 88 thousands and 5 tens is the same as

1) 885
2) 8850
3) 88005

4) 88050
2. Which of the following numbers when rounded off to the nearest ten becomes

22 5007

1) 22 444
2) 22496
3) 22 508

4) 22 554

3. How many one-fifths are there in 3 wholes?
3
1). 2
) 5

2
%1%
Yz

3) 5

4) 15



Arrange the following fractions from the greatest to the smallest.

2 5 1
3 ' 6 12
(greatest) (smallest)

yp L, 5 2
12 ' 6 ' 3
5 2 7
2) E » 3 ' '1—2"
2 7 5
¥ 3 2%
2 5 7
4y = IR
Y 3 i & =

Which of the following mixed numbers is represented by the letter Y in the
number line shown?

T

1
1) 12
3
2) 12

1
3) 2—
) 23



Wirite 42—70- as a decimal.

1) 4.72
2) 4.7
3) 4.35

4) 4.035

Which number below is 1.4 less than 3.69?

1) 2.29
2) 3.55
3) 3.83

4) 5.09

Mrs Wee bought 60 pink balioons and 44 purple balloons. She packed
8 balloons into each bag. How many bags did she use to pack all the
balloons?

1) 12

2) 13

3) 104

4) 912



9.  Heather's age is between 15 and 30 years old. Her age is also a muitiple of 4
and a factor of 56. Find Heather’s age.

1) 16
2) 18
3) 24

4) 28

10.  In aclass, 18 pupils take the school bus. The remaining 12 pupils walk to
school. What fraction of the pupils in the class walk to school?

1)

n|=

2)

(S FEN)

3)

m|w

2
H s
) 3

11. There were 192 lollipops in a packet. % of the lollipops were divided equally

among eight children. How many lollipops did each child receive?

2) 16
3) 36

4) 72



12.  Gabrielle had only the following five coins in her wallet.

She took three coins from her wallet and dropped them into a donation tin.
Which one of the following amount could be her total donation?

1) 30¢
2) 75¢
3) $1.35

4) $2.05

13.  In the figure shown, ABCD is a rectangle. Find £EDF.

A E B

35° £
90° 15°

D G

1) 40°

2) 50°

3) 55°

4) 75°



14.  Which two roads are parallel to each other?-

3/':’,4,,

Lapghy [Road
—LDome-Read —

1) Domo Road and Pinky Road

2) Domo Road and Tiffy Road
3) Laughy Road and Tiffy Road

4) Meemo Road and Laughy Road

15. How many letters in the following word have at least 1 line of symmetry?

H ONES ST

1) 2
2) 3
3) 4

4) 5



A palch of carpet grass measuring 3 m by 2 m is planted in a rectangular
plot of land. The carpet grass is surrounded by a wooden walkway. What
is the area of the wooden walkway?

1) 5m?

2) 6 m?
3) 18 m?

4) 24 m?

There are 34 pupils in a class. The table below shows the number of
cousins each pupil has.

Number of cousins each pupil has 0 1 2 3
Number of pupils 10 13 8 3

How many pupils in the class have more than 1 cousin?
1) 11
2) 13
3) 21

4) 24



18. Shawn is facing the Police Station after making a —il anti-clockwise turn,

Where was he facing at first?

Fast Food Restaurant
Shopping Centre Food Court

Church Community Club
Petrol Kiosk Police Station
Car Park
1) Church
2) Food Court

3) Petrol Kiosk

4) Fast Food Restaurant

19. Kathy started doing her homework at 09 15. She used 2 h 45 min to
complete her homework. Then she took a nap for 20 minutes before she had
her lunch. Atwhat time did she have her lunch?

1) 1020
2) 1135
3) 12 00

4) 1220



20. The figure below is made up of a square, CDEJ, and 2 identical rectangles,
ABCK and EFGH. Find the area of the figure.

8cm
A »B
J KI ______________ C
12 cm
G H
F & doem P
1) 120 cm?
2) 132 cm?
3) 136 cm?
4) 196 cm?
** END OF BOOKLET A**
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Section B: (20 x 2 marks)

Write down your answers in the spaces provided. For questions which require
units, give your answers in the units stated. Show all workings clearly.

21.  Write nineteen thousand and forty-five in figures.

22.  What number is 10 more than 99997

23.  Some factors of 63 are 1, 3, 7, and 63. What are the other two factors of 637

Ans: and

Do not
write in
this
space.




24.  Whatis the value of =+ 117
3 12

Express your answer as a mixed number.

Ans :

25.  Which two of the fractions below are smaller than %?

4 5

1 % S 4
5 10 9

7

Ans :

26.  Write 5 hundredths in figures.,

Ans :

and

Do not
write
in this
space.




2l

Round 17.56 to the nearest whole number.

Ans :

28.  In the figure, name the two angles that are greater than 90°.

29.

Ans: Z and £

What is the sum of the 6" multiple of 7 and the 8™ multiple of 9?

Ans:

Do not
write
in this

space.




Do
30. Achefhad 105 kg of salmon. He used % of the salmon. How much salmon did he \.,,32"‘

in this
have left? : space.

Ans : , kg

31.  Mrs Qia had 2.09 m of ribbon to make hair accessories. She bought another 1.5 m
of ribbon. After making the hair accessories she needed, she had 1.7 m of ribbon
left. How much ribbon did Mrs Qia use in total? Express your answer in ¢m.

Ans: cm




32.

33.

In the figure below, CE, FD and DG are straight lines. £FDG is three times of
ZGDE. What is the value of /GDE?

F

Ans : .

Goldie reads the schedule shown below for the bus that leaves the bus interchange
for the Singapore Zoo.

Leaves bus interchange Arrives at Sentosa
8.30 a.m. 9.15a.m.

8.45 a.m. 9.30 am.

9.20 a.m. 10.05 a.m.

9.45 a.m. 10.30 a.m.

10.30 a.m. | 1115 am.

Goldie wants to catch the bus that Jeaves at 8.30 a.m. but she is 25 minutes Jate.
What is the earliest time that she can arrive at the Singapore Zoo by bus?

Do not’

in this
space,




34. The bar graph below shows the amount of money Elliot spent each month.

Amount of money Elliot spent
1600

1400

1200

Amount

of

money 1000

($)

800

3 GO T 1 A T A b T
HEREARNNNER

W 5 4y
o e

Ty
t;.‘;

400

RENNEREN

I B o e bt = P |

200

| O T |

(@ In which month did Elliot save the most-amount of money?

(b) How much money did he save in that month?

Ans: (a)

(b) $

Do not
write
inthis
space.




Use the line graph below to answer Questions 35 and 36.
The line graph shows the number of apples a class of pupils had eaten in a day.

20 i
18 ' B\
16 £ A\

14 £ 3

Number |12 /"4 \\

of pupils
g PP Pl AN

0 1 2 3

Number of apples eaten

35.  How many pupils were there altogether?

Ans:

36.  How many apples were eaten altogether in a day?

Ans :

Do nat

in this
space.




37. Avla jogs at the stadium once every 3 days. Bowie jogs at the same stadium once | Do not
write
every 5-days: If they were to first meet-at-the stadium on a Wednesday, when would | in this

be the next day that they would meet again?

Ans: . o

38. The total mass of a basket and a durian was 10.14 kg. After a watermelon was put
into the basket, the total mass of the basket, durian and watermelon became 20 kg.
The watermelon was twice as heavy as the durian. What was the mass of the
durian?




39,

40.

The opening hours of Pawp
café open in a week?

rint Pet's Café are shown below. How long is the

Monday Closed
Tuesday to Friday 12 p.m. to 9 p.m.
Saturday and Sunday 11a.m. to 10 p.m. N

Ans ; . h

The table below shows the number of stars Mrs Cheong awarded to her pupils
for getting full score in their topical tests.

: Number of stars Number of pupils
0 7
1 3 N
2 5
3 10
4 9
5 9

Mrs Cheong would award the Pupils who had obtained at least 2 stars with a
popsicle each. Each popsicle cost 80¢ each. How much would she have to pay in
all?

Ans:$

10

Do not
write
in this
space

[




Section C: {20 marks)

Show your working clearly and write your answers in the spaces provided. The number of
marks available is shown in brackets [ ] at the end of each question or part-question.

(20 marks)
41.  Study the pattem below. Each figure is made up of identical circles.
(a) How many circles are used to form Figure 4?
(b) How many more circles are used to form Figure 7 than Figure 4?
Figure 1 Figure 2 Figure 3
Ans : (a) [1]
(b) [2]

1

Do not
write
in this
space.




42.

Darlene spent % of her money on a wall clock and $124 on atable lamp. She
bad $92 left. How much did she spend on the wall clock?

Ans :

12

[3]

Do not

in this
space.




43.

The table shows the charges for developing film at Look Good Photoshop.

Service Charges
Developing $5 per roll of film
Printing ?

Ming Ming sent a roll of film for developing and 7 photographs for printing. She paid
the cashier $50 and received a change of $39.82. How much did the shop charge for
printing each photograph?

Ans : [3] u:

13

Do not
write
in this
space




44.  Figure X is made up of identical squares. It has a total area of 320 cm?, Do nof
, _ write
Figure Y shows the re-arrangement of the same squares used in Figure X. in this
Find the perimeter of Figure Y. e
S
]
]
'
]
]
Figure X FigureY
Ans : [3]

14



45.

What is the area of the figure below?

4 cm 6 cm "
A ry
T 7 cm
4 cm

TR | (TSN , PN
5em

F ol L"
16 cm i

Ans :

15

12 cm

[4]

Do not

in this
space,




46. At a stadium, there were an equal number of men and women. 79 men and 599 | Do not

women left the stadium. In the end, there were 8 times as many men as women | in this

who remained behind, How many women were there at first? space.

Ans : [4] Il——

**END OF PAPER*
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21)19045 22)10009 23)21and 9 24)17/12 25)1/5 and 4/9
26)0.05 27)18 28) +andq  29)114
30)105<7 =15
15x3 =45
105 — 45 = 60 kg

31)2.09 + 1.5 = 3.59
3.59-1.7=1.89m

32)180 — 40 = 140
14034 =35°

33)10.05 a.m.
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34)a)May
b)$1480
35)12 + 8 = 20
20+19=139
39+7=46
36)12x1=12
19x2=38
7x3=21
12 +38 =50
50+21=71
37)A:3, 6, 9,12, 15
B:5,10,15
15 days after Wednesday is Thursday
38)20 - 10.14 = 9.86
9.86<2 =4.93kg
39)9h x 4 = 36h
11hx2=22h
36 +22=58h
40)10+5=15
15+9=24
24 +9=33
80c = $0.80
0.80 x 33 = $26.40



41)a)10 + 5 = 15
15 circles are used to from Figure 4.
b)15 + 6 = 21
21+7=28
28 +8 =36
36-15=21
21 more circles are used to form Figure 7 than Figure 4.
42)124 + 92 = 216
9/9-1/9=8/9
216 —8=27
She spent $27 on the wall clock.
43)50 - 39.82 = 10.18
10.18-5=5.18
5.18+7=0.74
The shop charged $0.74 for printing each photograph.
44)3205 = 64
64=8x8
8x11=288

The perimeter of Figure Y is 88cm

www.testpaper.biz



45)7-4=3
4x3=12
16—-6=10
10-5=5
5x4=20
12-7=5
16 x5 =80
6x7=42
12 +20=32
32 +80=112
112 +42 =154
The area of the figure below is 154cm2.
46)599 — 79 = 520
520-+-5=104
104 + 599 = 703

There were 703 women at first.
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